



# Canonical Extension of Possibility Measures to Boolean Algebras of Conditionals

Tommaso Flaminio , Lluís Godo  <sup>(✉)</sup>, and Sara Ugolini 

IIIA - CSIC, 08193 Bellaterra, Spain  
{tommaso,godo,sara}@iiia.csic.es

**Abstract.** In this paper we study conditional possibility measures within the algebraic setting of Boolean algebras of conditional events. More precisely, we focus on the possibilistic version of the Strong Conditional Event Problem, introduced for probabilities by Goodman and Nguyen, and solved in finitary terms in a recent paper by introducing the so-called Boolean algebras of conditionals. Our main result shows that every possibility measure on a finite Boolean algebra can be canonically extended to an unconditional possibility measure on the resulting Boolean algebra of conditionals, in such a way that the canonical extension and the conditional possibility, determined in usual terms by any continuous t-norm, coincide on every basic conditional expression.

**Keywords:** Conditional possibility · Boolean algebras of conditionals · Strong conditional event problem

## 1 Introduction

The issue of conditioning in the framework of possibility theory has been discussed at large in the literature, starting from the pioneering work by Hisdal [15] and then followed by Dubois, Prade and colleagues (see e.g. [1, 9–11]), de Cooman and Walley [8, 17] and Coletti and colleagues [2–6] among others.

Comparing to the case of probability, where there is a common agreement on taking the conditional probability  $P(a \mid b)$  as the ratio  $P(a \wedge b)/P(b)$  (in case  $P(b) > 0$ ), a conditional possibility  $\Pi(a \mid b)$  has mainly been defined in the literature in (at least) two different ways: in an ordinal setting, the min-based conditioning sets  $\Pi_{\min}(a \mid b) = \Pi(a \wedge b)$  if  $\Pi(b) > \Pi(a \wedge b)$  and 1 otherwise; and in a numerical setting, the product-based conditioning defines  $\Pi_{\text{prod}}(a \mid b)$  as  $\Pi(a \wedge b)/\Pi(b)$  if  $\Pi(b) > 0$  and 1 otherwise. More in general, if  $*$  is a continuous t-norm and  $\Rightarrow_*$  is its residuum, one can define  $\Pi_*^+(a \mid b) = \Pi(b) \Rightarrow_* \Pi(a \wedge b)$ . Such  $\Pi_*^+(a \mid b)$  is in fact the greatest solution  $x$  of the equation  $\Pi(a \wedge b) = x * \Pi(b)$ . Notice that the two definitions above correspond to the choice  $*$  = minimum t-norm and  $*$  = product t-norm. However, as also discussed in the literature, see e.g. [10], not every choice of  $*$  is compatible with the satisfaction of some

rationality postulates for conditional possibility that are counterparts to Cox’s axioms for conditional probability, and moreover the definition of  $\Pi_*^+$  itself has some problems as well, and has to be slightly modified to another expression that we will denote with  $\Pi_*$ .

In this paper we deal with conditional possibility measures within the algebraic setting of Boolean algebras of conditionals [13], a recently proposed setting for measure-free conditionals endowed with the structure of a Boolean algebra. More precisely, we focus on a possibilistic version of the Strong Conditional Event Problem, considered for probabilities by Goodman and Nguyen [14], and solved in finitary terms in [13] with the help of those structures. Indeed, Boolean algebras of conditional events are introduced with the aim of playing for conditional probability a similar role Boolean algebras of plain events play for probability theory. To do so, the authors try to identify which properties of conditional probability depend on the algebraic features of conditional events and which properties are intrinsic to the nature of the measure itself.

Clearly, a similar analysis can be done for the notion of conditional possibility, with the advantage that we can now study the suitability of Boolean algebras of conditionals as a common algebraic framework for conditional events also in relation to conditional possibility, in the sense of checking whether conditional possibilities can be regarded as plain possibility measures on algebras of conditional events. Our main result shows that this is actually the case for a very general notion of conditional possibility. Namely, if  $\mathbf{A}$  is any finite Boolean algebra and  $\Pi$  is a possibility measure on  $\mathbf{A}$ , then we show that, for any continuous  $t$ -norm  $*$ ,  $\Pi$  can be always extended to a (unconditional) possibility measure  $\mu_\Pi$  on the Boolean algebra of conditionals  $\mathcal{C}(\mathbf{A})$  built over  $\mathbf{A}$ , in such a way that, for every basic conditional object  $(a \mid b) \in \mathcal{C}(\mathbf{A})$ ,  $\mu_\Pi((a \mid b)')$  coincides with the conditional possibility  $\Pi_*(a \mid b)$ .

This paper is structured as follows. Next Sect. 2 is dedicated to recall basic notions and results on conditional possibility theory, while Boolean algebras of conditionals will be briefly recalled in Sect. 3. Our main result, namely the solution of the possibilistic version of the Strong Conditional Event Problem, will be proved in Sect. 4. Finally, in Sect. 5, we will conclude and present future work on this subject.

## 2 Possibility and Conditional Possibility Measures

In this section we will recall basic notions and results about (conditional) possibility theory [9, 18]. We will assume the reader to be familiar with the algebraic setting of Boolean algebras. For every finite Boolean algebra  $\mathbf{A}$ , we will henceforth denote by  $\text{at}(\mathbf{A})$  the finite set of its atoms.

A possibility measure on a Boolean algebra  $\mathbf{A}$  is a mapping  $\Pi : A \rightarrow [0, 1]$  satisfying the following properties:

- ( $\Pi 1$ )  $\Pi(\top) = 1$ ,
- ( $\Pi 2$ )  $\Pi(\perp) = 0$ ,
- ( $\Pi 3$ )  $\Pi(\bigvee_{i \in I} a_i) = \sup\{\Pi(a_i) \mid i \in I\}$

If  $\mathbf{A}$  is finite, which will be our setting in this paper, then (II3) can just be replaced by

$$(II3)^* \Pi(a \vee b) = \max(\Pi(a), \Pi(b))$$

In the finite setting, possibility measures are completely determined by their corresponding (normalized) possibility distributions on the atoms of the algebra. Namely,  $\Pi : A \rightarrow [0, 1]$  is a possibility measure iff there is a mapping  $\pi : \text{at}(\mathbf{A}) \rightarrow [0, 1]$  with  $\max\{\pi(\alpha) : \alpha \in \text{at}(\mathbf{A})\} = 1$  such that

$$\Pi(a) = \max\{\pi(\alpha) : \alpha \in \text{at}(\mathbf{A}), \alpha \leq a\}.$$

Clearly, in such a case  $\pi(\alpha) = \Pi(\alpha)$  for each  $\alpha \in \text{at}(\mathbf{A})$ .

When we come to define conditional possibility measures there have been several proposals in the literature, see e.g. a summary of them in [17]. Nevertheless,  $\Pi(a | b)$  has been traditionally chosen as the greatest solution of the equation [10, 12]:

$$\Pi(a \wedge b) = x * \Pi(b) \tag{1}$$

where either  $*$  = min or  $*$  = product. This leads to these two definitions:

$$\Pi_{\min}(a | b) = \begin{cases} \Pi(a \wedge b), & \text{if } \Pi(b) > \Pi(a \wedge b) \\ 1, & \text{otherwise} \end{cases}$$

$$\Pi_{\text{prod}}(a | b) = \begin{cases} \Pi(a \wedge b) / \Pi(b), & \text{if } \Pi(b) > 0 \\ 1, & \text{otherwise} \end{cases}$$

$\Pi_{\min}(\cdot | \cdot)$  has been known as the qualitative conditioning of  $\Pi$  while  $\Pi_{\text{prod}}(\cdot | \cdot)$  has been known as the quantitative conditioning of  $\Pi$ .

Actually, in a finite setting, both expressions satisfy very intuitive properties a conditional possibility  $\Pi(\cdot | \cdot)$  should enjoy. For instance, for any  $a, b \in A$  and any  $\alpha, \gamma \in \text{at}(\mathbf{A})$  we have:

- P1.  $\Pi(\cdot | b)$  is a possibility measure on  $\mathbf{A}$ , if  $\Pi(b) > 0$
- P2.  $\Pi(a | b) = \Pi(a \wedge b | b)$ , and hence  $\Pi(a | b) = 0$  if  $a \wedge b = \perp$  and  $\Pi(b) > 0$
- P3. If  $\Pi(\alpha) < \Pi(\gamma)$  then  $\Pi(\alpha | b) < \Pi(\gamma | b)$ , if  $\alpha, \gamma \leq b$
- P4. If  $\Pi(b) = 1$  then  $\Pi(a | b) = \Pi(a \wedge b)$
- P5. If  $\Pi(a) = 0$  and  $\Pi(b) > 0$  then  $\Pi(a | b) = 0$

Notice however that in case the Boolean algebra  $\mathbf{A}$  is infinite,  $\Pi_{\min}$  may fail to satisfy P1, that is,  $\Pi_{\min}(\cdot | b)$  might fail to be a possibility measure in a strict sense, even if  $\Pi(b) > 0$ , see [7].

Actually, if  $*$  is a continuous t-norm, properties P2-P4 keep holding for the conditional possibility measure  $\Pi_*^+(\cdot | \cdot)$  defined as the maximal solution for  $x$  in Eq. (1), in other words, by the conditional possibility defined as

$$\Pi_*^+(a | b) = \Pi(b) \Rightarrow_* \Pi(a \wedge b), \tag{2}$$

where  $\Rightarrow_*$  is the residuum of  $*$ , that is the binary operation defined as  $x \Rightarrow_* y = \max\{z \in [0, 1] \mid x * z \leq y\}$ . If  $*$  is without zero-divisors,<sup>1</sup> then  $\Pi_*^+(\cdot \mid \cdot)$  further satisfies P1 and P5 as well. For every continuous t-norm  $*$ , the pair  $(*, \Rightarrow_*)$  is known as a *residuated pair*. When  $*$  = min or  $*$  = product, we obtain the above definitions of  $\Pi_{\min}$  and  $\Pi_{\text{prod}}$  as particular cases. Note that if  $*$  has zero divisors, P1 fails because  $\Pi_*^+(\perp \mid b) = \Pi(b) \Rightarrow_* 0$  is not guaranteed to be 0 when  $\Pi(b) > 0$  [7, 10]. For the same reason P5 can fail as well. For instance, if  $*$  is Łukasiewicz t-norm,  $\Pi(b) \Rightarrow_* 0 = 1 - \Pi(b) > 0$  when  $\Pi(b) < 1$ . To avoid this situation and other issues related to the conditioning by an event of measure zero, in [4] the authors considered a modified expression for  $\Pi_*^+$ , called  $T_{DP}$ -conditional possibility, on which we base the following definition.

**Definition 1.** *Given a possibility measure  $\Pi$  on a Boolean algebra  $\mathbf{A}$  and a continuous t-norm  $*$ , we define the mapping  $\Pi_* : A \times A' \rightarrow [0, 1]$ , where  $A' = A \setminus \{\perp\}$ , as follows:*

$$\Pi_*(a \mid b) = \begin{cases} \Pi(b) \Rightarrow_* \Pi(a \wedge b), & \text{if } a \wedge b \neq \perp \\ 0, & \text{otherwise.} \end{cases} \tag{3}$$

In this way,  $\Pi_*(a \mid b) = 0$  whenever  $a \wedge b = \perp$ , even if  $\Pi(b) = 0$  (while  $\Pi_*^+(a \mid b) = 1$  in that case). For any continuous t-norm  $*$ ,  $\Pi_*$  keeps satisfying P2-P4, and if  $*$  has no zero-divisors then P1 and P5 as well. Moreover, for any continuous t-norm  $*$ ,  $\Pi_*$  also satisfies both P1 and P2 when  $\Pi(b) = 0$ .

However, if  $*$  is a left-continuous t-norm, to start with, (1) might not have a greatest solution. Indeed, if we define  $\Pi_*$  as in (3) for a left-continuous t-norm  $*$ , we obtain the following characterisation.

**Proposition 1.** *If  $*$  is a left-continuous t-norm, the following are equivalent:*

- (i)  $*$  is continuous.
- (ii)  $\Pi_*(a \mid d) * \Pi_*(b \mid a \wedge d) = \Pi_*(a \wedge b \mid d)$ , for all possibility measures  $\Pi$  on any Boolean algebra  $\mathbf{A}$ , and for all  $a, b, c \in \mathbf{A}$ .
- (iii)  $\Pi(a \wedge b) = \Pi(a) * \Pi_*(b \mid a)$ , for all possibility measures  $\Pi$  on any Boolean algebra  $\mathbf{A}$ , and for all  $a, b, c \in \mathbf{A}$ .

*Proof.* That (i) implies (ii) is proved in [4, Prop. 1]. Nevertheless we show here a more compact proof by using the fact that  $*$  is continuous iff, together with its residuum  $\Rightarrow_*$ , it satisfies the divisibility equation  $x * (x \Rightarrow_* y) = \min(x, y)$ , see e.g. [16]. Notice first that if  $a \wedge b \wedge d = \perp$ , then  $\Pi_*(a \mid d) * \Pi_*(b \mid a \wedge d) = \Pi_*(a \mid d) * 0 = 0 = \Pi_*(a \wedge b \mid d)$ , by definition of  $\Pi_*$ . Suppose now that  $a \wedge b \wedge d \neq \perp$  (and thus also  $a \wedge d \neq \perp$ ), then

---

<sup>1</sup> A t-norm  $*$  has no zero-divisors when  $x * y = 0$  implies either  $x = 0$  or  $y = 0$ , see e.g. [16].

$$\begin{aligned}
 \Pi_*(a \mid d) * \Pi_*(b \mid a \wedge d) &= \Pi_*(a \mid d) * (\Pi(a \wedge d) \Rightarrow_* \Pi(a \wedge b \wedge d)) \\
 &= \Pi_*(a \mid d) * ((\Pi(d) * \Pi_*(a \mid d)) \Rightarrow_* \Pi(a \wedge b \wedge d)) \\
 &= \Pi_*(a \mid d) * (\Pi_*(a \mid d) \Rightarrow_* (\Pi(d) \Rightarrow_* \Pi(a \wedge b \wedge d))) \\
 &= \min(\Pi_*(a \mid d), \Pi(d) \Rightarrow_* \Pi(a \wedge b \wedge d)) \\
 &= \min(\Pi_*(a \mid d), \Pi_*(a \wedge b \mid d)) \\
 &= \Pi_*(a \wedge b \mid d).
 \end{aligned}$$

That (ii) implies (iii) can be easily seen by setting  $d = \top$ . We now show that (iii) implies (i) by contraposition. Suppose that  $*$  is not continuous, this means that divisibility does not hold and then there exist  $x, y \in [0, 1]$  such that  $y < x$  and  $x * (x \Rightarrow_* y) < y$ . Then we can find a Boolean algebra  $\mathbf{A}$  with a possibility measure  $\Pi$  where  $\Pi(a) * \Pi_*(b \mid a) < \Pi(a \wedge b)$ . Take  $\mathbf{A}$  to be the Boolean algebra generated by two elements  $a$  and  $b$ . The atoms of  $\mathbf{A}$  are conjunctions of literals of the generators. We can then define a measure  $\Pi$  by setting  $\Pi(a \wedge b) = y$ ,  $\Pi(a \wedge \neg b) = x$ ,  $\Pi(\neg a \wedge \neg b) = \Pi(\neg a \wedge b) = 1$ . Then  $\Pi(a) = \max(x, y) = x$ . Thus,  $\Pi(a) * \Pi_*(b \mid a) = \Pi(a) * (\Pi(a) \Rightarrow_* \Pi(a \wedge b)) = x * (x \Rightarrow_* y) < y = \Pi(a \wedge b)$ , so (iii) would not hold and the proof is complete.  $\square$

Thus, continuity of the t-norm  $*$  is equivalent to requiring both usual Bayes' Theorem (iii) and the generalized version of it (ii).

The problem of conditioning by an event with zero measure (already mentioned regarding Definition 1) and other related problems led Coletti and colleagues, see e.g. [2, 5, 6], to put forward an axiomatic approach to the definition of conditional possibility, similar to the case of conditional probability, where the notion of conditional possibility is primitive and not derived from a (unconditional) possibility. The following definition is basically from [2].

**Definition 2.** *Given a t-norm  $*$ , a  $*$ -conditional possibility<sup>2</sup> measure on  $\mathbf{A}$  is a binary mapping  $\overline{\Pi}(\cdot \mid \cdot) : A \times A' \rightarrow [0, 1]$ , where  $A' = A \setminus \{\perp\}$ , satisfying the following conditions:*

- (CII1)  $\overline{\Pi}(a \mid b) = \overline{\Pi}(a \wedge b \mid b)$ , for all  $a \in A, b \in A'$
- (CII2)  $\overline{\Pi}(\cdot \mid b)$  is a possibility measure for each  $b \in A'$
- (CII3)  $\overline{\Pi}(a \wedge b \mid c) = \overline{\Pi}(b \mid a \wedge c) * \overline{\Pi}(a \mid c)$ , for all  $a, b, c \in A$  such that  $a \wedge c \in A'$ .

Regarding (CII2), note that if  $\overline{\Pi}(b \mid \top) = 0$  then the possibility measure  $\Pi_b(\cdot) = \overline{\Pi}(\cdot \mid b)$  is such that  $\Pi_b(a) = 0$  if  $a \wedge b = \perp$  and  $\Pi_b(a) = 1$  otherwise.

The requirement of the operation  $*$  in (CII3) to be a t-norm is very natural and has been discussed and justified by several authors, specially in relation to the simpler, particular case  $\overline{\Pi}(a \wedge b \mid \top) = \overline{\Pi}(b \mid a) * \overline{\Pi}(a \mid \top)$ , see e.g. [2, 5, 10]. Moreover, although they might be a bit weaker, arguments different from the ones discussed above to further require  $*$  to be continuous and without zero-divisors can also be put forward here:

<sup>2</sup> Called  $T$ -conditional possibility in [5, 6].

- no zero-divisors: in the case  $b \leq a \leq c$  and (CII3) yields  $\overline{\Pi}(b \mid c) = \overline{\Pi}(b \mid a) * \overline{\Pi}(a \mid c)$ , then if  $*$  has zero-divisors, it can happen that  $\overline{\Pi}(b \mid c) = 0$  (which can be read as “ $(b \mid c)$  is not possible”), while  $\overline{\Pi}(b \mid a)$  and  $\overline{\Pi}(a \mid c)$  are both positive, which is unintuitive.
- continuity: roughly speaking, if we require that small changes in  $\overline{\Pi}(b \mid a \wedge c)$  and  $\overline{\Pi}(a \mid c)$  imply small changes in  $\overline{\Pi}(a \wedge b \mid c)$ .

Note that when  $c = \top$ , (CII3) simplifies to:

$$\overline{\Pi}(a \wedge b \mid \top) = \overline{\Pi}(b \mid a) * \overline{\Pi}(a \mid \top),$$

so that  $\overline{\Pi}(a \mid b)$  is a solution of Eq.(1) once we identify  $\Pi(\cdot)$  with  $\overline{\Pi}(\cdot \mid \top)$ . Moreover, for every (unconditional)  $\Pi$  on  $\mathbf{A}$ , it turns out that  $\Pi_*$  (as defined in Definition 1) is the greatest  $*$ -conditional possibility  $\overline{\Pi}$  on  $A \times A'$  agreeing with  $\Pi$  on  $\mathbf{A}$ , that is, such that  $\overline{\Pi}(\cdot \mid \top) = \Pi(\cdot)$ .

**Proposition 2 (cf. [4]).** *For every continuous t-norm  $*$  and for every possibility measure  $\Pi$  on  $\mathbf{A}$ , let  $C_*(\Pi)$  denote the set of  $*$ -conditional possibilities agreeing with  $\Pi$  on  $\mathbf{A}$ . Then  $\Pi_* = \max\{C_*(\Pi)\}$ , i.e.  $\Pi_* \in C_*(\Pi)$  and  $\Pi_* \geq \overline{\Pi}$  for every  $\overline{\Pi} \in C_*(\Pi)$ .*

*Proof.* That  $\Pi_*$  is a  $*$ -conditional possibility is shown in [4, Prop.1] and that  $\Pi_*(\cdot \mid \top) = \Pi(\cdot)$  is clear by definition. Suppose  $\overline{\Pi}$  is a  $*$ -conditional possibility agreeing with  $\Pi$ , and let  $a, b \in A$  such that  $a \wedge b \neq \perp$  (otherwise  $\overline{\Pi}(a \mid b) = \Pi_*(a \mid b) = 0$ ). Then we have  $\Pi(a \wedge b) = \overline{\Pi}(a \wedge b \mid \top) = \overline{\Pi}(b \mid a) * \overline{\Pi}(a \mid \top) = \overline{\Pi}(b \mid a) * \Pi(a)$ , and hence  $\overline{\Pi}(b \mid a) \leq (\Pi(a) \Rightarrow_* \Pi(a \wedge b)) = \Pi_*(b \mid a)$ .

### 3 A Brief Recap on Boolean Algebras of Conditionals

In this section we recall basic notions and results from [13] where, for any Boolean algebra  $\mathbf{A} = (A, \wedge, \vee, \neg, \perp, \top)$ , a Boolean algebra of conditionals, denoted  $\mathcal{C}(\mathbf{A})$ , is built. Intuitively, a Boolean algebra of conditionals over  $\mathbf{A}$  allows *basic conditionals*, i.e. objects of the form  $(a \mid b)$  for  $a \in A$  and  $b \in A' = A \setminus \{\perp\}$ , to be freely combined with the usual Boolean operations up to certain extent, but always satisfying the following requirements:

- (R1) For every  $b \in A'$ , the conditional  $(b \mid b)$  will be the top element of  $\mathcal{C}(\mathbf{A})$ , while  $(\neg b \mid b)$  will be the bottom;
- (R2) Given  $b \in A'$ , the set of conditionals  $A \mid b = \{(a \mid b) : a \in A\}$  will be the domain of a Boolean subalgebra of  $\mathcal{C}(\mathbf{A})$ , and in particular when  $b = \top$ , this subalgebra will be isomorphic to  $\mathbf{A}$ ;
- (R3) In a conditional  $(a \mid b)$  we can replace the consequent  $a$  by  $a \wedge b$ , that is, the conditionals  $(a \mid b)$  and  $(a \wedge b \mid b)$  represent the same element of  $\mathcal{C}(\mathbf{A})$ ;
- (R4) For all  $a \in A$  and all  $b, c \in A'$ , if  $a \leq b \leq c$ , then the result of conjunctively combining the conditionals  $(a \mid b)$  and  $(b \mid c)$  must yield the conditional  $(a \mid c)$ .

R4 encodes a sort of restricted chaining of conditionals and it is inspired by the chain rule of conditional probabilities:  $P(a \mid b) \cdot P(b \mid c) = P(a \mid c)$  whenever  $a \leq b \leq c$ .

In mathematical terms, the formal construction of the algebra of conditionals  $\mathcal{C}(\mathbf{A})$  is done as follows. One first considers the free Boolean algebra  $\mathbf{Free}(A \mid A) = (Free(A \mid A), \sqcap, \sqcup, \sim, \perp, \top)$  generated by the set  $A \mid A = \{(a \mid b) : a \in A, b \in A'\}$ . Then, in order to accommodate the requirements R1-R4 above, one considers the smallest congruence relation  $\equiv_{\mathcal{C}}$  on  $\mathbf{Free}(A \mid A)$  satisfying:

- (C1)  $(b \mid b) \equiv_{\mathcal{C}} \top$ , for all  $b \in A'$ ;
- (C2)  $(a_1 \mid b) \sqcap (a_2 \mid b) \equiv_{\mathcal{C}} (a_1 \wedge a_2 \mid b)$ , for all  $a_1, a_2 \in A, b \in A'$ ;
- (C3)  $\sim(a \mid b) \equiv_{\mathcal{C}} (\neg a \mid b)$ , for all  $a \in A, b \in A'$ ;
- (C4)  $(a \wedge b \mid b) \equiv_{\mathcal{C}} (a \mid b)$ , for all  $a \in A, b \in A'$ ;
- (C5)  $(a \mid b) \sqcap (b \mid c) \equiv_{\mathcal{C}} (a \mid c)$ , for all  $a \in A, b, c \in A'$  such that  $a \leq b \leq c$ .

Note that (C1)–(C5) faithfully account for the requirements R1-R4 where, in particular, (C2) and (C3) account for R2. Finally, the algebra  $\mathcal{C}(\mathbf{A})$  is defined as follows.

**Definition 3.** *For every Boolean algebra  $\mathbf{A}$ , the Boolean algebra of conditionals of  $\mathbf{A}$  is the quotient structure  $\mathcal{C}(\mathbf{A}) = \mathbf{Free}(A \mid A) / \equiv_{\mathcal{C}}$ .*

To distinguish the operations of  $\mathbf{A}$  from those of  $\mathcal{C}(\mathbf{A})$ , the following signature is adopted:

$$\mathcal{C}(\mathbf{A}) = (\mathcal{C}(A), \sqcap, \sqcup, \sim, \perp, \top).$$

Since  $\mathcal{C}(\mathbf{A})$  is a *quotient* of  $\mathbf{Free}(A \mid A)$ , elements of  $\mathcal{C}(\mathbf{A})$  are equivalence classes, but without danger of confusion, one can henceforth identify classes  $[t]_{\equiv_{\mathcal{C}}}$  with one of its representative elements, in particular, by  $t$  itself. For instance, using this notation convention, the following equalities, which correspond to (C1)–(C5) above, hold in any Boolean algebra of conditionals  $\mathcal{C}(\mathbf{A})$ , for all  $a, a' \in A$  and  $b, c \in A'$ :

1.  $(b \mid b) = \top$ ;
2.  $(a \mid b) \sqcap (c \mid b) = (a \wedge c \mid b)$ ;
3.  $\sim(a \mid b) = (\neg a \mid b)$ ;
4.  $(a \wedge b \mid b) = (a \mid b)$ ;
5. if  $a \leq b \leq c$ , then  $(a \mid b) \sqcap (b \mid c) = (a \mid c)$ .

A basic observation is that if  $\mathbf{A}$  is finite,  $\mathcal{C}(\mathbf{A})$  is finite as well, and hence atomic. Therefore, in the finite case, it is of crucial importance, for uncertainty measures on  $\mathcal{C}(\mathbf{A})$  like probabilities or possibilities, to identify the atoms of  $\mathcal{C}(\mathbf{A})$ , since these measures are fully determined by their values on the atoms of the algebra they are defined upon.

If  $\mathbf{A}$  is a Boolean algebra with  $n$  atoms, i.e.  $|\text{at}(\mathbf{A})| = n$ , it is shown in [13] that the atoms of  $\mathcal{C}(\mathbf{A})$  are in one-to-one correspondence with sequences  $\bar{\alpha} = \langle \alpha_1, \dots, \alpha_{n-1} \rangle$  of  $n-1$  pairwise different atoms of  $\mathbf{A}$ , each of these sequences giving rise to an atom  $\omega_{\bar{\alpha}}$  defined as the following conjunction of  $n-1$  basic conditionals:

$$\omega_{\bar{\alpha}} = (\alpha_1 \mid \top) \sqcap (\alpha_2 \mid \neg \alpha_1) \sqcap \dots \sqcap (\alpha_{n-1} \mid \neg \alpha_1 \wedge \dots \wedge \neg \alpha_{n-2}), \tag{4}$$

It is then clear that  $|\text{at}(\mathcal{C}(\mathbf{A}))| = n!$ .

Now, assume  $\text{at}(\mathbf{A}) = \{\alpha_1, \dots, \alpha_n\}$  and let us consider a basic conditional of the form  $(\alpha_1 \mid b)$  for  $\alpha_1 \leq b$ . Let us denote the set of atoms below  $(\alpha_1 \mid b)$  by  $\text{at}_{\leq}(\alpha_1 \mid b) = \{\omega_{\bar{\gamma}} \in \text{at}(\mathcal{C}(\mathbf{A})) \mid \omega_{\bar{\gamma}} \leq (\alpha_1 \mid b)\}$ . For every  $j = 1, \dots, n$ , define

$$\mathbb{S}_j = \{\omega_{\bar{\gamma}} \in \text{at}_{\leq}(\alpha_1 \mid b) \mid \bar{\gamma} = \langle \gamma_1, \dots, \gamma_{n-1} \rangle \text{ with } \gamma_1 = \alpha_j\}.$$

In other words, for all  $j$ ,  $\mathbb{S}_j$  denotes the set of all those atoms below  $(\alpha_1 \mid b)$  of the form  $\omega_{\bar{\gamma}}$  where  $\bar{\gamma}$  is the sequence  $\langle \gamma_1, \dots, \gamma_{n-1} \rangle$  and  $\gamma_1 = \alpha_j$ . In [13, Lemma 5.1] it is proved the following result.

**Lemma 1.** *The set  $\{\mathbb{S}_j\}_{j=1, \dots, n}$  is a partition of  $\text{at}_{\leq}(\alpha_1 \mid b)$ , i.e.  $\text{at}_{\leq}(\alpha_1 \mid b) = \cup_{j=1, \dots, n} \mathbb{S}_j$ , and  $\mathbb{S}_i \cap \mathbb{S}_i = \emptyset$  whenever  $i \neq j$ . Moreover, for  $j \geq 2$ ,  $\mathbb{S}_j = \emptyset$  if  $\alpha_j \leq b$ .*

Now, let us describe the sets  $\mathbb{S}_j$ 's. For every sequence  $\langle \alpha_1, \dots, \alpha_i \rangle$  of pairwise different atoms of  $\mathbf{A}$  with  $i \leq n - 1$ , let us consider the following set of atoms:

$$\llbracket \alpha_1, \dots, \alpha_i \rrbracket = \{\omega_{\bar{\gamma}} \in \text{at}(\mathbf{A}) \mid \bar{\gamma} = \langle \alpha_1, \dots, \alpha_i, \sigma_{i+1}, \dots, \sigma_{n-1} \rangle\}.$$

In other words,  $\llbracket \alpha_1, \dots, \alpha_i \rrbracket$  stands for the subset of  $\text{at}(\mathcal{C}(\mathbf{A}))$  whose elements are in one-one correspondence with those sequences  $\bar{\gamma}$  having  $\langle \alpha_1, \dots, \alpha_i \rangle$  as initial segment. The next proposition recalls how the sets  $\mathbb{S}_j$  are obtained from the sets  $\llbracket \alpha_1, \dots, \alpha_i \rrbracket$ .

**Proposition 3** ([13, Proposition 5.3]). *Let  $\mathbf{A}$  be a finite Boolean algebra with atoms  $\alpha_1, \dots, \alpha_n$  and let  $b \in A$  such that  $\neg b = \beta_1 \vee \dots \vee \beta_k$  and let  $\beta_k = \alpha_j$ . For every  $t = 2, \dots, k - 1$ , denote by  $\mathbb{P}_t$  the set of permutations  $p : \{1, \dots, t\} \rightarrow \{1, \dots, t\}$ . Then,*

$$\mathbb{S}_j = \llbracket \alpha_j, \alpha_1 \rrbracket \cup \bigcup_{i=1}^k \llbracket \alpha_j, \beta_i, \alpha_1 \rrbracket \cup \bigcup_{t=2}^{k-1} \bigcup_{p \in \mathbb{P}_t} \llbracket \alpha_j, \beta_{p(1)} \dots, \beta_{p(t)} \alpha_1 \rrbracket.$$

### 4 The Strong Conditional Event Problem for Possibility Measures

Our aim in this section is to solve the following *possibilistic* version of the Goodman and Nguyen's *strong conditional event problem*:

**Possibilistic Strong Conditional Event Problem:** Given a possibility measure  $\Pi$  on a finite Boolean algebra  $\mathbf{A}$ , find an extension of  $\Pi$  to a possibility measure  $\mu_{\Pi}$  on the Boolean algebra of conditionals  $\mathcal{C}(\mathbf{A})$  such that, for any  $(a \mid b) \in \mathcal{C}(\mathbf{A})$ ,  $\mu_{\Pi}(a \mid b)$  coincides with the  $*$ -conditional possibility  $\Pi_*(a \mid b)$  for some suitable continuous t-norm  $*$ .

Since the main results we need to prove next in order to provide a solution for this problem are quite general, in what follows, unless stated otherwise,  $*$  will denote an arbitrary t-norm and  $\Rightarrow$  a residuated implication, so that we will



not assume, in general, that  $\Rightarrow$  is the residuum of  $*$ . A pair  $(*, \Rightarrow)$  of this kind will be simply called a *t-norm implication-pair*, or simply a *ti-pair*.

Given a possibility measure  $\Pi$  on a finite Boolean algebra  $\mathbf{A}$  with  $n$  atoms and a ti-pair  $(*, \Rightarrow)$ , we start by defining a mapping  $\mu_\Pi : \mathfrak{ot}(\mathcal{C}(\mathbf{A})) \rightarrow [0, 1]$  as follows: for every atom of the Boolean algebra of conditionals  $\mathcal{C}(\mathbf{A})$  as in Eq. (4), we define

$$\mu_\Pi(\omega_{\bar{\alpha}}) = \Pi(\alpha_1) * (\Pi(\neg\alpha_1) \Rightarrow \Pi(\alpha_2)) * \dots * (\Pi(\bigwedge_{j=1}^{n-2} \neg\alpha_j) \Rightarrow \Pi(\alpha_{n-1})).$$

For the sake of a lighter and shorter notation, we will henceforth write  $\frac{\Pi(a)}{\Pi(b)} \succ$  in place of  $\Pi(b) \Rightarrow \Pi(a)$ , so that the above expression becomes

$$\mu_\Pi(\omega_{\bar{\alpha}}) = \Pi(\alpha_1) * \frac{\Pi(\alpha_2)}{\Pi(\neg\alpha_1)} \succ * \dots * \frac{\Pi(\alpha_{n-1})}{\Pi(\bigwedge_{j=1}^{n-2} \neg\alpha_j)} \succ. \tag{5}$$

**Lemma 2.** *For any ti-pair  $(*, \Rightarrow)$ ,  $\mu_\Pi$  is a normalized possibility distribution on  $\mathfrak{ot}(\mathcal{C}(\mathbf{A}))$ .*

*Proof.* We have to show that  $\mu_\Pi$  takes value 1 for some atom of  $\mathcal{C}(\mathbf{A})$ . First of all note that (5) can be equivalently expressed as

$$\mu_\Pi(\omega_{\bar{\alpha}}) = \Pi(\alpha_1) * \frac{\Pi(\alpha_2)}{\Pi(\alpha_2 \vee \alpha_3 \vee \dots \vee \alpha_n)} \succ * \dots * \frac{\Pi(\alpha_{n-1})}{\Pi(\alpha_{n-1} \vee \alpha_n)} \succ.$$

Since  $\Pi$  is a possibility measure on  $\mathbf{A}$ , we can rank its atoms  $\mathfrak{ot}(\mathbf{A})$  according to the values taken by  $\Pi$ , so that we can assume  $\mathfrak{ot}(\mathbf{A}) = \{\beta_1, \beta_2, \dots, \beta_n\}$  with  $1 = \Pi(\beta_1) \geq \Pi(\beta_2) \geq \dots \geq \Pi(\beta_n)$ . In this way, for  $1 \leq i \leq n - 1$ ,  $\Pi(\beta_i) = \max_{j=i}^n \Pi(\beta_j) = \Pi(\beta_i \vee \beta_{i+1} \vee \dots \vee \beta_n)$ , and hence  $\frac{\Pi(\beta_i)}{\Pi(\beta_i \vee \beta_{i+1} \vee \dots \vee \beta_n)} \succ = 1$ . Let  $\bar{\beta}$  to be the sequence  $\bar{\beta} = \langle \beta_1, \beta_2, \dots, \beta_{n-1} \rangle$ . Then, the corresponding atom  $\omega_{\bar{\beta}}$  of  $\mathcal{C}(\mathbf{A})$  is such that  $\mu_\Pi(\omega_{\bar{\beta}}) = \Pi(\beta_1) * \frac{\Pi(\beta_2)}{\Pi(\beta_2 \vee \beta_3 \vee \dots)} \succ * \dots * \frac{\Pi(\beta_{n-1})}{\Pi(\beta_{n-1} \vee \beta_n)} \succ = 1$ .  $\square$

In light of the above lemma, we extend  $\mu_\Pi$  to a possibility measure on  $\mathcal{C}(\mathbf{A})$ , denoted by the same symbol  $\mu_\Pi : \mathcal{C}(\mathbf{A}) \rightarrow [0, 1]$ , by defining, for every  $t \in \mathcal{C}(\mathbf{A})$ ,

$$\mu_\Pi(t) = \max\{\mu_\Pi(\omega_{\bar{\alpha}}) \mid \omega_{\bar{\alpha}} \in \mathfrak{ot}(\mathcal{C}(\mathbf{A})) \text{ and } \omega_{\bar{\alpha}} \leq t\}.$$

Then, so defined,  $\mu_\Pi$  is indeed a possibility measure on  $\mathcal{C}(\mathbf{A})$ .

**Definition 4.** *For every possibility measure  $\Pi$  on a Boolean algebra  $\mathbf{A}$  and for every ti-pair  $(*, \Rightarrow)$ , the possibility measure  $\mu_\Pi : \mathcal{C}(\mathbf{A}) \rightarrow [0, 1]$  is called the  $(*, \Rightarrow)$ -canonical extension of  $\Pi$ .*

*Example 1.* Let  $\mathbf{A}$  be a Boolean algebra with 3 atoms (say  $\alpha_1, \alpha_2, \alpha_3$ ) and 8 elements, and let  $\Pi$  be the possibility distribution  $\Pi(\alpha_1) = 0.7, \Pi(\alpha_2) = 1, \Pi(\alpha_3) = 0.2$ . The corresponding algebra of conditionals  $\mathcal{C}(\mathbf{A})$  has  $3! = 6$  atoms and 64 elements. In particular, the atoms are the following compound conditionals:

$$\omega_1 = (\alpha_1 \mid \top) \sqcap (\alpha_2 \mid \neg\alpha_1), \omega_2 = (\alpha_1 \mid \top) \sqcap (\alpha_3 \mid \neg\alpha_1), \omega_3 = (\alpha_2 \mid \top) \sqcap (\alpha_1 \mid \neg\alpha_2)$$

$$\omega_4 = (\alpha_2 \mid \top) \sqcap (\alpha_3 \mid \neg\alpha_2), \omega_5 = (\alpha_3 \mid \top) \sqcap (\alpha_1 \mid \neg\alpha_3), \omega_6 = (\alpha_3 \mid \top) \sqcap (\alpha_2 \mid \neg\alpha_3)$$

Now, let us consider the basic conditionals  $t_1 = (\alpha_1 \mid \neg\alpha_3) = (\alpha_1 \mid \neg\alpha_1 \vee \alpha_2)$  and  $t_2 = (\alpha_2 \vee \alpha_3 \mid \top)$ . It is not hard to check that  $t_1 = \omega_1 \sqcup \omega_2 \sqcup \omega_5; t_2 = \omega_3 \sqcup \omega_4 \sqcup \omega_5 \sqcup \omega_6; t_1 \sqcap t_2 = \omega_5; \neg t_1 = \omega_3 \sqcup \omega_4 \sqcup \omega_6$ .

Taking  $*$  = product and  $\Rightarrow$  its residuum, the extension  $\mu_\Pi$  of  $\Pi$  to  $\mathcal{C}(\mathbf{A})$  is determined by the following distribution on its atoms given by (5):

$$\mu_\Pi(\omega_1) = 0.7 \cdot 1 = 0.7, \mu_P(\omega_2) = 0.7 \cdot (0.2/1) = 0.14,$$

$$\mu_P(\omega_3) = 1 \cdot (0.7/0.7) = 1, \mu_P(\omega_4) = 1 \cdot (0.2/0.7) = 2/7,$$

$$\mu_P(\omega_5) = 0.2 \cdot 0.7 = 0.14, \mu_P(\omega_6) = 0.2 \cdot 1 = 0.2.$$

Then we can compute the possibility degree of any other (basic or compound) conditional. For instance:

$$\mu_\Pi(t_1) = \mu_\Pi(\alpha_1 \mid \neg\alpha_1 \vee \alpha_2) = \max\{\mu_\Pi(\omega_1), \mu_\Pi(\omega_2), \mu_\Pi(\omega_5)\} = 0.7$$

$$\mu_\Pi(t_2) = \mu_\Pi(\alpha_2 \vee \alpha_3 \mid \top) = \max\{\mu_\Pi(\omega_3), \mu_\Pi(\omega_4), \mu_\Pi(\omega_5), \mu_\Pi(\omega_6)\} = 1$$

$$\mu_\Pi(t_1 \sqcap t_2) = \mu_\Pi(\omega_5) = 0.2$$

$$\mu_\Pi(\neg t_1) = \max\{\mu_\Pi(\omega_3), \mu_\Pi(\omega_4), \mu_\Pi(\omega_6)\} = 1. \quad \square$$

For what follows, recall the sets  $\mathbb{S}_j$  and  $\llbracket \alpha_1, \dots, \alpha_i \rrbracket$  as defined in Sect. 3.

**Lemma 3.** *Let  $\alpha_{i_1}, \dots, \alpha_{i_t} \in \text{at}(\mathbf{A})$ . Then*

$$\mu_\Pi(\llbracket \alpha_{i_1}, \dots, \alpha_{i_t} \rrbracket) = \Pi(\alpha_{i_1}) * \frac{\Pi(\alpha_{i_2})}{\Pi(\neg\alpha_{i_1})} \multimap * \dots * \frac{\Pi(\alpha_{i_t})}{\Pi(\neg\alpha_{i_1} \wedge \neg\alpha_{i_2} \wedge \dots \wedge \neg\alpha_{i_{t-1}})} \multimap.$$

*Proof.* Let  $\gamma_1, \dots, \gamma_l$  be the atoms of  $\mathbf{A}$  different from  $\alpha_{i_1}, \dots, \alpha_{i_t}$ . Thus,  $\omega_{\bar{\delta}} \in \llbracket \alpha_{i_1}, \dots, \alpha_{i_t} \rrbracket$  iff  $\bar{\delta} = \langle \alpha_{i_1}, \dots, \alpha_{i_t}, \sigma_1, \dots, \sigma_{l-1} \rangle$  where  $\bar{\sigma} = \langle \sigma_1, \dots, \sigma_{l-1} \rangle$  is any string which is obtained by permuting  $l - 1$  elements in  $\{\gamma_1, \dots, \gamma_l\}$ .

Therefore, if  $\Psi = \neg\alpha_{i_1} \wedge \dots \wedge \neg\alpha_{i_t} (= \gamma_1 \vee \dots \vee \gamma_l)$ , by letting

$$- K = \Pi(\alpha_{i_1}) * \frac{\Pi(\alpha_{i_2})}{\Pi(\neg\alpha_{i_1})} \multimap * \dots * \frac{\Pi(\alpha_{i_t})}{\Pi(\neg\alpha_{i_1} \wedge \neg\alpha_{i_2} \wedge \dots \wedge \neg\alpha_{i_{t-1}})} \multimap,$$

$$- H = \bigvee_{\bar{\sigma}} \frac{\Pi(\sigma_1)}{\Pi(\Psi)} \multimap * \frac{\Pi(\sigma_2)}{\Pi(\Psi \wedge \neg\sigma_1)} \multimap * \dots * \frac{\Pi(\sigma_{l-1})}{\Pi(\Psi \wedge \neg\sigma_1 \wedge \dots \wedge \neg\sigma_{n-2})} \multimap,$$

it is clear that  $\mu_\Pi(\llbracket \alpha_{i_1}, \dots, \alpha_{i_t} \rrbracket) = K * H$ . We now prove  $H = 1$  by induction on the number  $l$  of atoms different from  $\alpha_{i_1}, \dots, \alpha_{i_t}$ , i.e.  $l = n - t$ :

(Case 0) The basic case is for  $l = 2$ . In this case  $H = \frac{\Pi(\gamma_1)}{\Pi(\Psi)} \multimap \vee \frac{\Pi(\gamma_2)}{\Pi(\Psi)} \multimap = \frac{\Pi(\gamma_1 \vee \gamma_2)}{\Pi(\Psi)} \multimap$ . Thus, the claim trivially follows because  $\Psi = \gamma_1 \vee \gamma_2$ .

(Case l) For any  $j = 1, \dots, l$  consider the strings  $\bar{\sigma}$  such that  $\sigma_1 = \gamma_j$ . Therefore,

$$H = \left[ \frac{\Pi(\gamma_1)}{\Pi(\Psi)} \multimap * \bigvee_{\bar{\sigma}: \sigma_1 = \gamma_1} \left( \frac{\Pi(\sigma_2)}{\Pi(\Psi \wedge \neg\gamma_1)} \multimap * \dots * \frac{\Pi(\sigma_{l-1})}{\Pi(\Psi \wedge \neg\sigma_1 \wedge \dots \wedge \neg\sigma_{l-2})} \multimap \right) \right] \vee \dots$$

$$\dots \vee \left[ \frac{\Pi(\gamma_l)}{\Pi(\Psi)} \multimap * \bigvee_{\bar{\sigma}: \sigma_1 = \gamma_l} \left( \frac{\Pi(\sigma_2)}{\Pi(\Psi \wedge \neg\gamma_l)} \multimap * \dots * \frac{\Pi(\sigma_{l-1})}{\Pi(\Psi \wedge \neg\sigma_1 \wedge \dots \wedge \neg\sigma_{l-2})} \multimap \right) \right].$$

By inductive hypothesis, each term  $\bigvee_{\bar{\sigma}: \sigma_1 = \gamma_j} \left( \frac{\Pi(\sigma_2)}{\Pi(\Psi \wedge \neg\gamma_j)} \multimap * \dots * \frac{\Pi(\sigma_{l-1})}{\Pi(\Psi \wedge \neg\sigma_1 \wedge \dots \wedge \neg\sigma_{l-2})} \multimap \right)$  equals 1. Thus,  $H = \bigvee_{j=1}^l \frac{\Pi(\gamma_j)}{\Pi(\Psi)} \multimap = \frac{\Pi(\bigvee_{j=1}^l \gamma_j)}{\Pi(\Psi)} \multimap = 1$  since  $\Psi = \bigvee_{j=1}^l \gamma_j$ . □

As we did in the last part of Sect. 3, let us focus on a basic conditional of the form  $(\alpha_1 \mid b)$  for  $b \geq \alpha_1$ . Then, the next result immediately follows from Lemma 3 above together with the observation that  $\mathbb{S}_1 = \llbracket \alpha_1 \rrbracket$ .

**Lemma 4.** *Let  $\mathbf{A}$  be a finite Boolean algebra with atoms  $\alpha_1, \dots, \alpha_n$ , let  $b \in A$  be such that  $b \geq \alpha_1$ . Then, for every ti-pair  $(*, \Rightarrow)$ , the  $(*, \Rightarrow)$ -canonical extension  $\mu_\Pi$  of a possibility measure  $\Pi$  of  $\mathbf{A}$  satisfies,  $\mu_\Pi(\mathbb{S}_1) = \bigvee_{\omega_{\neg\gamma} \in \mathbb{S}_1} \mu_\Pi(\omega_{\neg\gamma}) = \Pi(\alpha_1)$ .*

Now we prove our main result that will directly lead to a finitary solution for the Possibilistic Strong Conditional Event Problem stated at the beginning of this section. In what follows, for every basic conditional  $(a \mid b)$ , we write  $\mu_\Pi(a \mid b)$  instead of  $\mu_\Pi('a \mid b')$ .

**Theorem 1.** *For every possibility measure  $\Pi : \mathbf{A} \rightarrow [0, 1]$  and for every ti-pair  $(*, \Rightarrow)$ , the  $(*, \Rightarrow)$ -canonical extension  $\mu_\Pi : \mathcal{C}(\mathbf{A}) \rightarrow [0, 1]$  of  $\Pi$  to  $\mathcal{C}(\mathbf{A})$  is such that, for every basic conditional  $(a \mid b)$ ,*

$$\mu_\Pi(a \mid b) = \begin{cases} 0, & \text{if } a \wedge b = \perp \\ \Pi(b) \Rightarrow \Pi(a \wedge b), & \text{otherwise.} \end{cases}$$

*Proof.* Let  $\Pi$  be given as in the hypothesis, and let  $\mu_\Pi$  be defined on  $\mathcal{C}(\mathbf{A})$  as in (5). By definition and Lemma 2,  $\mu_\Pi$  is a normalised possibility measure. Moreover, recall that  $(a \mid b) = \perp_{\mathcal{C}}$  if  $a \wedge b = \perp$ , whence, by definition,  $\mu_\Pi(a \mid b) = 0$ . Thus, it is left to prove the claim for those  $(a \mid b)$  with  $a \wedge b > \perp$ .

To this end, notice that each basic conditional  $(a \mid b)$  equals  $(\bigvee_{\alpha_i \leq a} \alpha_i \mid b) = \bigsqcup_{\alpha_i \leq a} (\alpha_i \mid b)$ . Since  $\mu_P$  is maxitive, let us prove the claim for conditionals of the form  $(\alpha \mid b)$  for  $\alpha \in \text{at}(\mathbf{A})$  and  $\alpha \leq b$ . Without loss of generality we will assume  $\alpha = \alpha_1$ . By Lemma 1,  $\{\mathbb{S}_j\}_{j=1, \dots, n}$  is a partition of  $\text{at}_{\leq}(\alpha_1 \mid b)$ . Thus,

$$\mu_\Pi(\alpha_1 \mid b) = \bigvee_{j=1}^n \mu_\Pi(\mathbb{S}_j) = \mu_\Pi(\mathbb{S}_1) \vee \bigvee_{j=2}^n \mu_\Pi(\mathbb{S}_j).$$

Also by Lemma 1,  $\mathbb{S}_j = \emptyset$ , and thus  $\mu_\Pi(\mathbb{S}_j) = 0$ , for all those  $j$  such that  $\alpha_j \leq \neg b$ . Therefore, by Lemma 4 one has,

$$\mu_\Pi(\alpha_1 \mid b) = \bigvee_{j=1}^n \mu_\Pi(\mathbb{S}_j) = \Pi(\alpha_1) \vee \bigvee_{j: \alpha_j \leq \neg b} \mu_\Pi(\mathbb{S}_j).$$

From this equation it already follows  $\mu_\Pi(\alpha_1 \mid b) \geq \Pi(\alpha_1)$ . We have to prove that  $\mu_\Pi(\alpha_1 \mid b) = \frac{\Pi(\alpha_1)}{\Pi(b)}$ .

In what follows we assume  $\neg b = \beta_1 \vee \dots \vee \beta_k$ , where  $\Pi(\beta_1) \leq \dots \leq \Pi(\beta_k)$ . The proof is divided in three steps:

(1)  $\mu_\Pi(\alpha_1 \mid b) \leq \frac{\Pi(\alpha_1)}{\Pi(b)}$ . If  $\bar{\omega} \leq (\alpha_1 \mid b)$ , then it must be of the form

$$\bar{\omega} = (\beta^1 \mid \top) \wedge (\beta^2 \mid \neg\beta^1) \wedge \dots \wedge (\beta^i \mid \neg\beta^1 \wedge \dots \wedge \neg\beta^{i-1}) \wedge (\alpha_1 \mid \neg\beta^1 \wedge \dots \wedge \neg\beta^i) \wedge \dots$$

where  $\beta^1, \dots, \beta^i \leq \neg b$ , or equivalently,  $\neg\beta^1 \dots \neg\beta^i \geq b$ . Then we have  $\bar{\omega} \leq (\alpha_1 \mid \neg\beta^1 \wedge \dots \wedge \neg\beta^i)$ , and hence

$$\mu_\Pi(\bar{\omega}) \leq \frac{\Pi(\alpha_1)}{\Pi(\neg\beta^1 \wedge \dots \wedge \neg\beta^i)} \leq \frac{\Pi(\alpha_1)}{\Pi(b)}.$$

Therefore,  $\mu_\Pi(\alpha_1 \mid b) = \bigvee_{j:\alpha_j \leq -b} \mu_\Pi(\mathbb{S}_j) \leq \frac{\Pi(\alpha_1)}{\Pi(b)} \rhd$ .

(2)  $\Pi(b) < 1$  implies  $\mu_\Pi(\alpha_1 \mid b) \geq \frac{\Pi(\alpha_1)}{\Pi(b)} \rhd$ . In this case,  $\Pi(-b) = 1$ , and thus  $\Pi(\beta_k) = 1$ . Let  $i_b = \max\{j \in \{1, \dots, k\} \mid \Pi(\beta_{i_b}) < \Pi(b)\}$ , and consider the subset  $S = \llbracket \beta_k, \beta_{k-1}, \dots, \beta_{i_b+1}, \alpha_1 \rrbracket$  of atoms of  $\mathcal{C}(\mathbf{A})$ . Proposition 3 shows that  $S \subseteq \mathbb{S}_k$ , whence, in particular,  $S \subseteq \bigcup_{j:\alpha_j \leq -b} \mathbb{S}_j$ . Then, by Lemma 3, we have:

$$\mu_\Pi(S) = \Pi(\beta_k) * \frac{\Pi(\beta_{k-1})}{\Pi(\neg\beta_k)} \rhd * \dots * \frac{\Pi(\beta_{i_b+1})}{\Pi(\neg\beta_k \wedge \dots \wedge \neg\beta_{i_b+2})} \rhd * \frac{\Pi(\alpha_1)}{\Pi(\neg\beta_k \wedge \dots \wedge \neg\beta_{i_b+1})} \rhd.$$

Notice that, for every  $i \in \{i_b + 1, \dots, k\}$ ,  $\Pi(\neg\beta_k \wedge \dots \wedge \neg\beta_{i_b+2}) = \Pi(\beta_{i-1} \vee \dots \vee \beta_1 \vee b) = \Pi(\beta_{i-1}) \vee \Pi(b) = \Pi(\beta_{i-1})$ , and moreover  $\Pi(\neg\beta_k \wedge \dots \wedge \neg\beta_{i_b+1}) = \Pi(\beta_{i_b} \vee \dots \vee \beta_1 \vee b) = \Pi(b)$ . Therefore we have:

$$\mu_\Pi(S) = \Pi(\beta_k) * \frac{\Pi(\beta_{k-1})}{\Pi(\beta_{k-1})} \rhd * \dots * \frac{\Pi(\beta_{i_b+1})}{\Pi(\beta_{i_b+1})} \rhd * \frac{\Pi(\alpha_1)}{\Pi(b)} \rhd = 1 * \dots * 1 * \frac{\Pi(\alpha_1)}{\Pi(b)} \rhd$$

and hence,  $\mu_\Pi(\alpha_1 \mid b) \geq \mu_\Pi(S) = \frac{\Pi(\alpha_1)}{\Pi(b)} \rhd$ .

(3)  $\Pi(b) = 1$  implies  $\mu_\Pi(\alpha_1 \mid b) \geq \frac{\Pi(\alpha_1)}{\Pi(b)} \rhd$ . As above observed,  $\mu_\Pi(\alpha_1 \mid b) \geq \Pi(\alpha_1) = \frac{\Pi(\alpha_1)}{\Pi(b)} \rhd$ .

Therefore, (1), (2) and (3) imply  $\mu_\Pi(\alpha_1 \mid b) = \frac{\Pi(\alpha_1)}{\Pi(b)} \rhd$ . □

Let us observe that the above result holds under very general assumptions about the operations  $*$  and  $\Rightarrow$  under which  $\mu_\Pi$  may fail to be a  $*$ -conditional possibility in the sense of Definition 2. However, when we restrict to the case where  $*$  is a continuous t-norm and  $(*, \Rightarrow_*)$  is a residuated pair, by Proposition 2  $\mu_\Pi$  does provide a solution to the possibilistic strong conditional event problem.

**Corollary 1.** *If  $\Pi$  is a possibility measure on a finite Boolean algebra  $\mathbf{A}$ ,  $*$  is a continuous t-norm and  $\Rightarrow_*$  its residuum, then the  $(*, \Rightarrow_*)$ -canonical extension  $\mu_\Pi$  of  $\Pi$  to  $\mathcal{C}(\mathbf{A})$  restricted to basic conditionals yields a  $*$ -conditional possibility, in the sense that  $\mu_\Pi(a \mid b) = \Pi_*(a \mid b)$  for every basic conditional  $(a \mid b) \in \mathcal{C}(\mathbf{A})$ .*

## 5 Conclusions and Future Work

In this paper we have shown that, in a finite setting, Boolean algebras of conditionals are suitable structures to accommodate conditional possibility measures, in a similar (but not completely analogous) way to that of conditional probabilities in [13]. We back up this claim by proving the Strong Conditional Event Problem for conditional possibility: for  $*$  being a continuous t-norm without zero-divisors, any possibility measure  $\Pi$  in a Boolean algebra of events  $\mathbf{A}$  extends to a possibility measure  $\mu_\Pi$  on the full algebra of conditional events  $\mathcal{C}(\mathbf{A})$  such that its restriction to basic conditionals is the  $*$ -conditional possibility  $\Pi_*(\cdot \mid \cdot)$ . This result indeed holds under very general assumptions. This suggests that the structure of a Boolean Algebra of Conditionals leaves room to accommodate notions of conditional possibility other than  $\Pi_*(\cdot \mid \cdot)$ . In particular, we plan to

study when and how a  $*$ -conditional possibility on  $A \times A'$ , regarded as a partially specified (unconditional) possibility on  $\mathcal{C}(\mathbf{A})$ , can be extended to any compound conditional in the full algebra  $\mathcal{C}(\mathbf{A})$ .

Following the lines of [13], we will also investigate under which conditions a (plain) possibility measure  $\Pi$  on  $\mathcal{C}(\mathbf{A})$  satisfies the axioms of a  $*$ -conditional possibility as in Definition 2 when restricted to basic conditionals. More precisely we will consider those possibilities satisfying  $\Pi((a \mid b) \wedge (b \mid c)) = \Pi(a \mid b) * \Pi(b \mid c)$ , for  $a \leq b \leq c$  and  $*$  being a continuous t-norm. These measures, in analogy with [13], can be called  $*$ -separable. Furthermore, we want to explore to what extent the results can be generalised when replacing the real unit interval  $[0, 1]$  by more general scales for possibility measures, like Gödel or strict BL-algebras. Finally, we also plan to study the use of Boolean algebras of conditionals in relation to conditioning more general uncertainty models such as belief functions.

**Acknowledgments.** The authors are grateful to the anonymous reviewers for their comments and suggestions. Flaminio acknowledges partial support by the Spanish Ramón y Cajal research program RYC-2016- 19799. Godo is indebted to Karim Tabia for helpful discussions on conditional possibility and acknowledges support by the Spanish project ISINC (PID2019-111544GB-C21). Ugolini receives funding from the European Union's Horizon 2020 research and innovation programme under the Marie Skłodowska-Curie grant agreement No 890616 (H2020-MSCA-IF-2019).

## References

1. Benferhat, S., Dubois, D., Prade, H.: Expressing independence in a possibilistic framework and its application to default reasoning. In: Cohn, A.G. (ed.) Proceedings of the 11th European Conference in Artificial Intelligence (ECAI 1994), pp. 150–154. Wiley, New York (1994)
2. Bouchon-Meunier, B., Coletti, G., Marsala, C.: Conditional possibility and necessity. In: Bouchon-Meunier, B., et al. (eds.) Technologies for Constructing Intelligent Systems. STUDEFUZZ, vol. 90, pp. 59–71. Springer, Heidelberg (2002). [https://doi.org/10.1007/978-3-7908-1796-6\\_5](https://doi.org/10.1007/978-3-7908-1796-6_5). (Selected papers from IPMU 2000)
3. Coletti, G., Petturiti, D.: Finitely maxitive T-conditional possibility theory: coherence and extension. Int. J. Approximate Reasoning **71**, 64–88 (2016)
4. Coletti, G., Petturiti, D., Vantaggi, B.: Independence in possibility theory under different triangular norms. In: van der Gaag, L.C. (ed.) ECSQARU 2013. LNCS (LNAI), vol. 7958, pp. 133–144. Springer, Heidelberg (2013). [https://doi.org/10.1007/978-3-642-39091-3\\_12](https://doi.org/10.1007/978-3-642-39091-3_12)
5. Coletti, G., Vantaggi, B.: Comparative models ruled by possibility and necessity: a conditional world. Int. J. Approximate Reasoning **45**, 341–363 (2007)
6. Coletti, G., Vantaggi, B.: T-conditional possibilities: coherence and inference. Fuzzy Sets Syst. **160**, 306–324 (2009)
7. De Baets, B., Tsiporkova, E., Mesiar, R.: Conditioning in possibility theory with strict order norms. Fuzzy Sets Syst. **106**, 221–229 (1999)
8. De Cooman, G.: Possibility theory II: conditional possibility. Int. J. Gen. Syst. **25**(4), 325–351 (1997)
9. Dubois, D., Prade, H.: Possibility Theory. Plenum, New York (1988)

10. Dubois, D., Prade, H.: The logical view of conditioning and its application to possibility and evidence theories. *Int. J. Approximate Reasoning* **4**, 23–46 (1990)
11. Dubois, D., Prade, H.: Bayesian conditioning in possibility theory. *Fuzzy Sets Syst.* **92**, 223–240 (1997)
12. Dubois, D., Prade, H.: Possibility theory: qualitative and quantitative aspects. In: Smets, Ph. (ed.) *Handbook on Defeasible Reasoning and Uncertainty Management Systems*, vol. 1, pp. 169–226. Kluwer Academic, Dordrecht (1988)
13. Flaminio, T., Godo, L., Hosni, H.: Boolean algebras of conditionals, probability and logic. *Artif. Intell.* **286**, 103347 (2020)
14. Goodman, I.R., Nguyen, H.T.: A theory of conditional information for probabilistic inference in intelligent systems: II. Product space approach. *Inf. Sci.* **76**, 13–42 (1994)
15. Hisdal, E.: Conditional possibilities: independence and non-interaction. *Fuzzy Sets Syst.* **1**, 283–297 (1978)
16. Klement, E.P., Mesiar, R., Pap, E.: *Triangular Norms*. TREN, vol. 8. Springer, Dordrecht (2000). <https://doi.org/10.1007/978-94-015-9540-7>
17. Walley, P., de Cooman, G.: Coherence of rules for defining conditional possibility. *Int. J. Approximate Reasoning* **21**, 63–107 (1999)
18. Zadeh, L.A.: Fuzzy sets as a basis for a theory of possibility. *Fuzzy Sets Syst.* **1**, 3–28 (1978)